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Find the angle which 1s three times of its
complementary angle.

3H HIU T HE AG RIGC S 2797 FHifCGTH HI0
&1 & T 2

Find the angle which 1s four times of its
supplementary angle.

IH IV T HE F1d HIfoIC A I FLF HI0T FH

IR T 2
It (2x + 17°) and (x + 4°) are complementary,
find x:
afZ (2x + 17°)3R (x + 4°) TF TR & T HI00
€, @l x 1 7F 2
If (5y+62°), (22° + y) are supplementary, find y:
Tt (5 + 62°), (22° + y) TH-HL & HEEH S0
g,y °H e

Convert 1t 47°20" into radian.

47°20' &1 T H 7F Fa@rs

Convert 1t 63°14'51" into radian.

63°14'51" &1 ¥eaq | 7= S|

In the figure AB||CD, ZABE=100°. Find
ZCDE:

fea ma fas1 % AB||CD, ZABE=100°at
ZCDE 1 | &l

A C
100° 1o
B D
25°

In the following figure, if PQ | RS, LM X Q=
135°and £ MYR = 40°. Find £ XMY.

= f&@ ™ o= °, 3t PQ | RS, £LMXQ=135°
AR L MYR =40°d1 £ XMY 1 41 &

9.

10.

11.

12.

13.

In a figure, AB 1s a straight line. Find (x + v):
fa  AB U= ditft T 2, dt (x+ y) &1 5E g

In a figure AB || DE, ~ ABC = 67° and
ZEDC=23° Find /BCD:

fa2 5 AB | DE, , ABC = 67° 3R £ZEDC=
23° d1 « BCD 1 |9 2

B D
67° 3°
>
A E

In a figure AB || CD, find x° :
fast AB||CD, @ x° 1 HF daraf|

A C
KI:J
D

In the given Fig. AB || CD. Find the value of x.
@ ™ o3 HAB |

CD @ x T 9 4 Fil.

A B
108°

X
112°

C >

In the figure, AB ||CD and PQ, QR intersect AB and
CD both at E, F, G and H respectively. Given that
ZPEB = 80°, ZQHD = 120° and ZPQR= x, then
find the value of x.

Contact No.: 9555202436, 9716761136 (Whatsapp) 2




14.

15.

16.

17.

18.

fas § AB||CD @91 PQ. QR, ABdCD &l HHI: E
9 FauGaH W sfa=sfea #wt € fem mn 2,
ZPEB = 80°, ZQHD = 120° @41 ZPQR= x x &1
HE F1d it

C
A A

G Q
P |/'/’}:f
Ri®
3 |

[ h]
Ina AABC., ZA+7ZB=145°, C+2,/B=180° find the
relation b/w AB & AC.

AABCH, ZA+/B=145°, /C+2/B=180° , T4 AB @
AC o gre] g

(1)AC > AB

(m)AC =AB

(iii))AC < AB

In the following fig. AD = BD =AC and /CAF =
81°, then find ZACE .

P
A
B D t

Ina AABD.
AB=BC=CD & AD=BD. Find ZADB.

AABD H., AB=BC=CD Tud AD = BD.
@t LADB T HE Fadiai

D
A
A B

In a triangle ABC, /B=/2C=78°.D &E are two

points on side AB and AC such that
/ZBCD=51°and /CBE=24° Find angle
ZCDE =7

fqs ABCH ZB=2/C=78°1 3 fa§ DT E
qsti ABFACRIATFRE fF ZBCD=51° 3R
ZCBE=24°%, A /CDE %1 A 3@ &I

In tnangle ABC, A 1s equal to 120° There 1s a
point D 1inside the triangle such that /DBC =

19.

20.

21.

22,

23,

24.

25.

2 ZABD and /DCB =2 ZACD . What 1s the mea-
sure of BDC ?

5195 ABC ® , LA =120° 720 foIqs & &1
fag D38 9”2 % LDBC =2 ZABD 3%
ZDCB =2 /ACDdl /BDC &1 | F14d Elﬁﬁ"il

A

In a tnnangle DEF, points A, B, and C are C are taken
on DE, DF and EF respectively such that EC = AC

and CF = BC. If ZD=40° then, ZACB="7

S DEF & & fag %79: A, B 3R C =13 DE,
DF 3R EF W 39 YR fow ™ & EC =AC 3R
CF=BCI 3t £D=40° 99 ZACB="?

Ina AABC , BC is produced to D such that CD=AC
if ZBAD=111°, /ACB=80°. find ZABC ="
AABCH, 91 BC &1 fag D 7% 39 YR sgrn 7
2,7 CD=AC, 3R /BAD=111° 3R LACB=80°
@ ZABC=?

Ina AABC, CD isthe angle bisector of interior C.
Which meets AB at D. M 1s a point on CD such that
AD=AM.IF £ZB=59° find /MAC.

AABC ¥, 37d:@h 107 £C &1 191 GHg9rSI® CD %, &
AB#HID R faear 2ifeg M, CD W 30 7R € &
AD = AM. I #B=59° G99 ZMAC &1 HF &1 M7

Ina AABC, ZA=60", AB=3 cm., AC =4 cm.
Find the length of AD, it AD 1s angle bisector.

AABCH, /A =60°, AB =3 9t 3 AC = 4 T
AD &1 A1 14 Hifsw, g€ AD HI0 3eEF 2|

Ina AABC, A =120°,AB=20°cm,AC=30cm
find the angle bisector AD.

AABCH, ZA =120° . AB = 20 991, AC = 30 9l
2, dl FHv FafE9rS AD F1 oFEE = 8ri?

Ina AABC, ZA=90°, ZB=30° find the ratio of
sides.

AABCH, /A =90°, /B=30°T S[S3Tl &1 79T
A Hifag|

Ina AABC, AB=12cm, ZABC=30°, Z/ACB = 45°

find the area of AABC .
AABCH,AB = 129H1, ~ ABC = 30°,
/ ACB =45°11 3991 ABC &1 &% F1d STl
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26.

27.

28.

29.

30.

31.

32.

33.

34.

In a AABC. AD divides BC in the ratio 1 : 3.

sin ZBAD
sin ZCAD

AABCH, @1 AD, 951 BC &1 1: 3 H fawifsa s

sin ZBAD -
" sin ZCAD

If /B =60°. /C =45°. then Find the

2,9 /B=60° 3 C=45° T4

{7 F

Ina AABC. ZA=120°. AB=6 cm, AC = 8 ¢m
find the length of side BC.

fasqst ABCH, LA =120°, AB =68l 3iRAC =8
gt 21 @ BC &1 WM 714G &4

Ina AABC, AB=5cm. AC=7cm, BC=6 cm, If
AD L BC. find the length of BD.

AABCH AB =584t AC =7 991 3R BC = 6 9 2
gqfs AD L BC#| d BD &1 ofar ads|

Ina AABC, AB=AC=17cm, D 1s a point on BC
such that AD =15, CD =4 cm, find BD=7?

AABCH , AB=AC= 179, Yo BC W fag D zH
TR e fFAD=159H. CD=4 9 @BD ="

Ina AABC, AB=AC, D 1s a point on BC such that
Z/BAD = 50° and a point E on side AC such that AE
=AD find /CDE

AABCH, AB = AC, fa D 9= BC 38 W& %,
fof ZBAD =50° 3 fag E q9NAC W 79 %R ¢ &
AE = AD @ ZCDET HM 41 81?7

In AABC there are 2 points D and E on BC such that
BD : DE : EC =3 : 4 : 5, 1if the area of

AADE = 40c¢m?* then find the area of AABC.
AABCH, 3l fag D 3R E 9o BC W 39 YK ¢
f BD:DE:EC=3:4:5%1 af§ AADE %1 &5%a
40 Tt 8 9@ AABC &1 &19%e F1 BAT7

Ina AABC.AB = 10 em, AC = 15, AD 1s angle

bisector. If the area of AABD = 18cm? . find area of

AABC

st ABCH AB= 109, AC = 15 511 9% faqs
ABD 1 &F%a = 18 §HP?, @ HIYSIABC &1 &5%d
T HifeU, 4z AD F101 FaEaF 2|

Ina AABC, ZB=100°, ZC=70°, AL | BC &
AD 1s angle bisecter. find Z/EAD.

AABCH, /B=100°, ZC=70°%, AE, %1 BC
R T 2 R AD &IV GHEISE 2, @ LEAD F
H 1 g

Ina AABC, angle bisector of interior angle B and

exterior angle C intersect at P. If £ZA=70°
find ZBPC .

36.

37.

38.

39.

40.

41.

42.

AABCH, 37d: #191 Ba9Ed 19 C % SV I5H
FHI: P W Wfaesg & g1 Ak ZA=70°%, @
Z/BPC &1 "H Fd ifs)

In a AABC, G 1s centroid and AD, BE, CF are
medians. find the area of quadrilateral BDGF, if the

area of AABC = 72¢m?

AABC ® G =& , @1 AD, BE, d CF fass #1
HiftrerTd & @ wq4S BDGF &1 &5%e Fa 1l
afg st ABC &1 &9kt 72 9P 2

Ina AABC. ZB = 90°. median AD and CF intersects
at'0'. find the ratio of area of AAOC and oBDOF .

AABC ® /B =9(°, Wifeg®@ AD d CF U&H-T5
F1 O R Afd=ae FHwdt 2, 9 38 ¥R 79 FEAOC

3R wgds BDOF & &%l &1 379 a1l
Ina AABC, AD s median and G 1s mid point of AD.
Ifarea of AAGC = 16¢m” . find the area of ABGC.

AABCH, AD % wifemesht € a1 G AD &1 W4
fag %, 9% A AGC = &1 &=%el 16 992 &
T9A BGC 1 &9%el T &

Ina AABC, G s centroid, AG=BC. find /BGC .

s ABC 1 5% G €13 AG=BC £BGC =?

In AABC ., D 1s the mid-point of BC. Length AD

1 27 cm. N 1s a point in AD such that the length of
DN 1s 12 cm. The distance of N from the centroid

of AABC 1s equal to
A ABC ¥, D 91 BC &1 ue7 fag 21 AD &1
o 27cm 21 &g N, AD W 38 W&R €
DN = 12 cm 21 A ABC & &3& § fag N &
Tl [ w2

Two medians AD and BE of A ABC intersect at G

at right angles. IfAD =9 ¢cm and BE = 6 cm, then
the length of BD (in cm ) 18

f&dt AABC I & #ifeasmd AD td BE | fag
G W Tua | famfea e 21 9 AD = 9 cm
91 BE = 6 §H1 &1, 99 BD &1 &g 991 ¥ 7
F?

G 1s the centorid of A ABC . The medians AD and

BE intersect at right angles. If the lengths of AD and
BE are 9 cm and 12 cm respectively, then the length
of AB (in ¢cm) 18?

A ABC # G #%® %1 AD @1 BE #feqsd U
T HI GHHI T Fed g1 aff AD a9 BE &1
o HE9: O WY qen 12 Wt ?1 @ AB HT wAag
| HL (FH. H)

If in a tnangle ABC, BE and CF are two medians

perpendicular to each other and if AB = 19 ¢m and
AC =22 c¢m then the length of BC 1s
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43.

44.

46.

47.

48.

49.

S0.

A ABC ¥ @ miferstd BE 3R CF U% g W
dad ¢ AR afF AB=19 ¢cm 3RAC =22 cm 2,
BC &1 #arg w1d il

[ftwo medians BE and CF of a triangle ABC, intersect

each other at G and 1If BG = CG, 2 BGC =60°, BC
= 8 cm, then area of the triangle ABC 1s :

A ABCH 7 #mifemsd BE @en CF U&-39 &1 G
fag W redt # 3R Ak BG = CG, £ BGC = 60°,
BC =8 cm, @ &1 s ABC @1 &/%ad F1d &1l

IFind the area of A whose length of medians 1s 18
cm, 24cm & 30 em.

3G A &1 aFhel 9d hife gt mfeaema
&1 T |8 W, 24 Wt G 30 HH F

I'ind the area of A whose length of medians 1s 13 cm,
14 cm, 15 cm.

39 s &1 aFawe Fa st foment mferae
F1 Twarg 13 9t 14 St g 15 a2

[f the sides of a A are 12, 16, 20. find the area of A
formed by medians.

afz st ABC %1 9SIT¢ H9: 12, 16920 €,
faqs ABC &1 wifegamsti @ a7+ ot fags &
He A L

[na AABC, AB=5,AC =6cm, BC=8cm. Find the
lengh of median AD.

st ABC ®, AB =5 WHt, AC = 6 ¥t 31T BC = §
gt 7, @ mfeaer AD &1 T o g2

Ina AABC. D and E are two Points on AB and AC
suchthat AD :DB=1:3 AE:CE=3:1.'0"1s the
mid point of DE. Ifthe areaof AABC=1 ¢m . Find
the area of ABOC .

AABCH, 1 fag D @IRE %99T: 981 AB 3IRAC W
TH YFN € HIAD DB=1:3,AE:CE=3 1%l

O,DE &1 "7 fag 31 af AABC &1 &5%at |
i 8, @ ABOC I &5(hel &1 &im?

[na AABC, DE||EG||BC and EF||BG and D is
a midpoint of AF. Find the ratio of area of

ADEF : AABC

Ina AABC, AD:DB=1:3 AE:EC=2:3 BF:
FC =1 : 2 find the ratio of area of ADEF : AABC .

N
N

56.

AABCH, AD:DB=1:3 ,AE:EC=2:31g
BF:FC=1:2% ADEF 3iRAABC® #=%ell %1
3T S B

Ina AABC, Median AD | side AB. Find the value

of tan A
tanB

tan A
tan B

AABC ¥ HIfTHTAD, 91 BC W o 21

F1 HE F1 27

In a AABC, ZA =65° /C=75°, where O 1s

circumeentre, find ZOAC.
AABCH, /A =653 /C=75° &0
fw= 2, @t £LOAC &1 §H &1 B2

Find the circumradius of AABC in which £/ A = 45°
side a = S\E.

AABCH, /A = 45° 3R 9o =82 €, @ g9 &1
ufifssan (R) & Brf?

ABC 1s a cyclic triangle and the bisectors of ~ BAC,
Z ABC and Z BCA meet the circle at P, Q and R
respectively. Then the angle ~ RQP 1s

ABC T% =1 f9s # 3R ~ BAC, ~ ABC 3
/ BCA® gufgursis %991: P,Q den R fag w fiyerd

2, @ LRQP="
ZB ZB
90° —— 90° + —
(a) > (b) >
£C ZC
(c) 9D"‘+T (d) 9U°—T

[n atriangle ABC, the lengths of the sides AB and AC
equal to 17.5 cm an 9 cm respecively. Let D be a point
on the line segment BC such that AD 1s perpendicular
to BC. If AD = 3 ¢m, the what 1s the radius (in cm) off
the circle circumscribing the triangle ABC?

A9 ABC |, 951 ABd AC &1 &F1E H991: 17.5
gt 9 9 At 21 9w W@Eve BC W fag D T
THR 2, fF AD,BC W o ¥ afg AD = 38wt
faqst ABC # dfiga #1 s (ut #) =0 2t

In a triangle ABC, AB= 17 cm, AC =9 c¢m, AD 1s
perpendicular on BC and AD =3 ¢cm. Find the circum
radius of this triangle.

AABCH, AB= 1794, AC =994l AD, BC W &%
2 aMAD =3 ¥t a1 fsw & uftga =i e @0 2

Perimeter ofa A 1s 32 cm & nradius 1s 3 cm. Find
the area of A.

% e &1 ufmr 32 99, &R s 3 g
2 A e #1 dea F gm?
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58.

60.

61.

62.

63.

64.

66.

67.

Find the ratio of circumradius to inradius. Ifthe ratio
of sides1s5:7 : 8,

ufifsen oiR i &1 ewe Fowm? Al
I3 1 39 5:7: 8 Bl

The sides ofa A are consecutive integers and inradius
15 4 cm. Find the area of the A.

u s @t el A gt @ 3R 39 B &
Fa:fomn 4 If 7, @ 39 S w1 s @ g

Ina AABC, I1s incenter, /BIC =116° find /A,
AABCH [ 3{d@= &, 3 /BIC =116° @ LA

o= # Bm?
O 1s the incentre of AABC and /A= 30°, then
find /\BOC .
O, AABC 1 3fd: %% & a1 ,A = 30° &,
/BOC ¥d &{?

[ 1s the incentre of AABC. #ABC = 60° and
Z ACB = 50°. Then find /BIC .
I, AABC 1 3fd: ®=% #1 £ ABC = 60° 3
Z ACB = 50° @, @ /BIC [ I
Let O be the in-centre of a triangle ABC and D be a
point on the side BC of A ABC, such that OD L BC,
If ~ BOD=15°then ~ ABC=7?

o fF O Y ABC #1 37d: &= € aen fag D
o BC W 39 w&R from 2, fF OD L BC #f%
/BOD=15%, @ £ ABC ="

In a AABC, angle bisector of ZA,ZB& ZC cuts
circumcircle at P, Q, R respectively. If ZCRQ = 46°
& ZA =50°, then find ZBQR.

AABCH, ZA, /B, /C % &I 3&F Rgd &l HA:
fag P, Q, R W wfe=dg w@ #1Af LCRQ = 46°,
ZA =50°%, @ ZBQR %1 HF &1 &7

Ina AABC, AD i1s angle bisector, AB = 7 cm,

AC =8 cm, BC =6 cm. If11s the incentre. find AI/ID.
AABCH, AD &I A% IV 3TgH &, 91 AB =
7 9, AC = 8 ¥t dem BC = 6 ¥t @1 afF |
FAh=5 & Al ID &1 I F Em?

[f the circumradius of a triangle 1s 7 cm and inradius
1s 3 cm. Find the distance between circumcentre and
incentre,

af fordt fvqe & ufigw &1 B qun sa: e
HAY: 7 U 9 3 w7, A s 9 s #
#= F1 g0 1 w7

[ and O are incenter and circumcentre of a AABC.
Al is produced and 1t intersects the circumcircle at D.

68.

09.

70.

71.

72.

73.

4+
/ABC=x, Z/BID=y& /BOD= = find——

}.-"
AABCH | 3fd@= 3R O ufe= 21 Al &1 31

@@ S 9figd ®1 D W Yfdesg & g1 Afg

:+x_

2

ZABC =x, ZBID = y 3R/BOD = - 7@

y

Ina AABC, /BOC =130°. 1f O 1s orthocentre,

find ZA .

AABCH, /BOC=130°,3f& O = &, 9 ZA
1 HE F B

[f the length of the sides of a triangle are in the ratio|
4 : 5: 6 and the inradius of the traingle is 3 cm, then
the altitude of the triangle corresponding to the largest
side as base 1s :

fordlt s 1 ol &1 79 4:5:6 €1 A=A
e 3 ot %, T@ HaQ T2 o1 W yidera &
oA Fq L2

Ina AABC,AB=10cm, BC=12cmand AC=18
cm. Find the length of smallest altitude.

AABCH, AB = 10 g1t BC = 12 §H1 #RAC = 18
T 2, 9 TaH B o i o wd FH

O 1s the orthocentre of AABC . A 1s orthocentre of
which of the following A

afe O, sl ABC &1 s = ¢, a frefafaa o
q Afeg faqs &1 oras= 7m?
(11) ABOC

(1) AABE
(111) AOBF (iv) AOBD

Disapomton side BC ofa AABC suchthat AD | BC.
E 1s a point on AD for which AE : ED =5 : 1.
ZBAD =30°, tan(ZACB)=6tan(£ZDBE) . find
ZACB=7"?
s ABCH 9YIBC W fag D39 wanr 2
AD | BC.ADW faRE®H WR & fRAE:ED=5: 1.
A ZBAD = 30°, tan(£ACB) = 6 tan(£DBE)
ZACB=7?
AB=13,BC=14, CA=15cm.

O and C are respectivly orthocentre and
circumcentre of a APQR. P and O are jomned and

produced to meet side QR at S,
ZPQS =60°, ZQCR =130°. find ZRPS.

st PQR &1 &= O 3R 9f@= C 21 P 3RO
%1 faemn 3R 38 @@ 3 ;@ S S QR &1 S
W fae 13 ZPQS = 60° 3 ZQCR =130°2]
@ /RPS="?
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74.

76.

77.

78.

79.

80.

81.

In a triangle the distance b/w centroid and
orthocentre 1s 18 em. Find the distance b/w
orthocentre & circumcentre.

uF fAqe | #sF 9 e & a9 #1118
A 2 @ R @ R # A F g0 T§ F
In AXYZ, I 1s incenter, O 1s orthocentre & C 1s
circumcenter, 2~ XOZ =252 XCZ. Find Z XIZ.

AXYZ. § 1 370 &=, O eTras=< 3 C = 21 afg
/X0Z=25/XCZ,d » XIZ 1 |91 F1 Bm?

In a triangle ABC, there are three points P, Q & R on
side BC, suchthat BP: PQ:QR:RC=1:2:3:4If
G 15 the centroid, then find the ratio of area of

APGR to area of AABC .

fasqst ABCH 9ot BC W @ fag P, Q& R 3H
yFR 2 fF BP:PQ:QR:RC=1:2:3:4, 3% G
®5% ¢ @ APGR T AABC & &A%l &1 9™
1 2

Ina AABC, angle bisector of exterior /B& /C
meets at point P. If /BPC = 65° then find ZA .
AABCH, agd &Il B9 C & I AgH FHII: P
W yfa=s # §1 AE LBPC=65°%, @ LA
HH FG HifsTa)

Find the ex-radius of a ex-circle which touches side
BC.

AB=13cm,BC=14cm, CA=15cm.

fasqgst ABC , st BC &1 ©091 a1 g37 a1 aed
gd 1 aed 7= # gni?

In a triangle ABC, “/B =2 ZC. AD & BE are
bisectors of ZBAC and ZABC . If AB=CD, then
find ZABC .

FAYTABCH, #/B =2 ZC.AD3EBE , & BAC
d HIUTABC & 31eda €1 3R AfE AB =CD a1 %1
ABC &1 91 @ &1

_ l . :
Two angles of a triangle are 5 radian and 3 radian.

Find the 3rd angle in degree.
. s 1 1
uF s & @ Fw E%@magﬂ%ﬂq%.

TH1 draa & (fetdt |J) F| w1

Ina triangle ABC, D & E are two point on AB & AC
and DE||BC . IfAD=6cm ,BD=(12x-6)cm ., AE
=2xcm & CE= (16 = 2x) cm. find the value of x.

A9 ABCH, D9 E %99 51 ABFAC & ==
feerg fag €, 3R DE||BC 21 af& AD = 6 9t BD
=(12x—6) 9, AE = 2x HHl 3R CE = (16— 2x) Tt
2. x & WA A Hife)

82.

83.

84.

85.

86.

87.

Ina triangle ABC, D & E are two points on sides AB
and AC such that DE||BC and AD:DB=3:5.

Find the ratio of area of A ADE to the area of
trapezium BDEC.

fqs ABCH, fag DI E qensii ABdBC W 39
7R € fF DEIBC 3R AD :DB=3:5%, @
A ADE 9 Tqca =9qdsl BDEC # &F%ell 1
S A FU

In a triangle ABC, median BE and CF intersect at
O. Find the ratio of area of AOFE and AABC .

st ABC ¥ wifemrs1 BE & CF U&-38 &l O Y
yfaeds &l €, 9 fI9s OFEa fays ABC &
Al 1 ST N T

In the following figure, if AG:GD=3:4 and

BD :DC=4:7and AE =15 cm, then find the length
of EC (in cm).

fea 1 faa 9 4ff AG: GD=3: 4 3R
BD DC=4:73RAE= 1594 2, 9@ EC &1 o7
o1 | 2l

A

G

Inthis AABC. BD=8cm,BC=20cm,CD=16cm
& /CBD = ZCAB. Find the perimeter of ABDA .
< faa fa= s ABCH |, S@IBD =8 &, BC =
20 91, CD = 16 ¥t 3R /CBD = ZCAB #1 @ A9
BDA 1 9ftarg s shifs)

A

D
16

20 C

Ina AABC. F and E are the mid point of AB and AC
respectively. G is the centroid of AABC . If X,Y and
Z are the mid points of EF, FG & GE respectively.
Find the ratio of area of AXYZ to area of AABC.
AABCH, fag Fa E®HTM:ABAAC & 77 fag
21 G AABC 1 %5% 8| afK X, Y 9Z %51 EF,
FGaGE# 7+ fag 8 AXYZTAABC F &%l
%1 A T FHL

[n the below figure, AD=18 cm, BD =6 ¢cm and EC

=11 em. If ZABE = £ACD, then find the length
of side AE (in cm).
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88.

89.

90.

91.

4= 73 @ fe9 § AD = 18 §Hi, BD = 6 §HT R 92.

EC =118 8, aft LZABE=ZACD,d =1 AE
FI g (9 H) §d

Ina APQR ., A 1s the mid-point of side PQ. There 1s
any point M on side QR. A line RN 1s drawn parallel
to AM which intersects PQ at N. Ifthe area of A PQR
1s 17 unit* . Find the area of A NQM.

15 PQR ®, A o1 PQ &1 weA-fag &, 9@ 0
QR M #F T# fag g1 TAM & IH= T
@ RN @il 9dl 2, St PQ &I N W Yidesg Hidl
€, I A PQR &1 &% 17 a7 3T &1, a1 A NQM
FT HTHA FN B2

Ina AABC. D and E are two points on AC & BC
such that DE 1s perpendicular to BC. DE = 18 cm,

CE=5cm & tan(£ZABC)=3.6 . Find the ratio AC to
CD.

AABCH Dd ET fag ysneii AC9BC W 70
w#R 2, f% DE, BC W &= %, @9 DE = 18 i, CE
=59l 3R tan(LABC)=3.6%, @ AC d CD #1
U 1 g7

(a) BC/2CE (b) 2BC/CE
(¢) CE2BC (d) 2CE/BC
In an 1sosceles triangle with base BC = 12 cm and

AB =AC =10 cm. There is a rectangle PQRS 1nside
the triangle whose base PS lies on BC such that PQ =

3 ,
SR =yand QR=PS =2x, Find the value of x+ T}'

us Tufgarg 9 & snum BC = 12 |6 qen
3= T T S AB=AC = 1099 2| fvet =
=T UF ad PQRS 7, fI&ah1 28R PS ¥ BC
W 3H YHR & fF PQ=SR =y 3R QR = PS =2x

. 3y .
& x+ T}m wH T F
In a AABC, AD 1s a median. The bisectors of

ZADB and ZADC meets AB & AC at E and F
respectively. AE : BE=3: 4. Find EF : BC.

ts 5199 ABC #, AD us wifea®r 2|
ZADB 3R /ADC & &I 318% AB 31T AC &l FHHI:
Ed FW ffed 8IAE-BE=3 :4 , EF-BC=9

93.

94.

95.

96.

97.

98.

ABC 1s an 1soceles triangle with base BC =12 cm .

There 1s arectangle GHED 1nside the triangle whose

base 1s GH on side BC. HE = 6 c¢m, F 1s the midpoint
of BC. If AF =24 cm, then find area of rectangle.

ABC t# wwfgarg s @ fSge1 smem BC = 12
ot 7, s % 3= ©F 79d GHED 39 U&R
f& ST 3R GH 91 BC W &1 HE = 6 991, F,
BC %1 7eF fa=g 2, af§ AF =24 9t 99 33q #71
&AFS G HifaIT

Length of inradius of an equilateral triangle 1s 3 cm.
Find the height of this triangle.

TF gHarg e #1 o w1 o 3 g R,
a 3| fase +t S 7w

[n an equilateral trniangle, there 1s a point inside the
triangle whose perpendicular distance from each side

is 34/3 . 44/3 & 53 respectively. Find the area of]
triangle.

THarg e & o FR ww fag 7, el
ISl G TS FE: 343, 443 T 53
s #1 g% Ja St

ABC 1s an equilateral triangle of side 30cm. XY 1s parallel
to BC, XP is parallel to AC and YQ is parallel to AB. If
XY + XP+YQ =40 cm. find the length of PQ.

s ABC U& HHarg 9w 7, fomert o= 30 &
2, XY Yo BC, XP ST AC 941 YQ 91 AB %
TR 2, AR XY + XP+ YQ =40 ¥4 2, 91 PQ &1
g Ad F 4

Ina AABC, G iscentroid. AB=15cm, BC = 18cm

AC = 25cm. Find the length of GD, if D is the mid
point of BC.

s ABC ®, G&= gl AB=15¥H, BC= 18
gt 3 AC =25 THT 81 GD #1 &= I 4,
afg D, BC &1 74 fag 7|

InaAABC, ZC in an obtuse angle. The bisectors of

the exterior angles at A and B meet BC and AC produced
at D and E respectively. TAB=AD=BE. find ZACB .

AABCH C ., 3 =101 21 AT9 BW 94 914
FHIT &% A5H BCAAAC HI M G@H W HHIM: D
JEW faed €1 aff AB=AD=BEd LACB="?

Ina A ABC (right angled at B), median BD of
length / divides angle B in the ratioof 2 : 1. Find

area of A ABC.
Tuahl 35S ABC ® 101 B GHEIU1 €, a1 Hifeaeh]
BD fSraet &g /€, S0 BHI2: 1 % 3FYE H
fawfsa +t 2, @ A ABC &1 &97%Fal Fd Hifer)

Contact No.: 9555202436, 9716761136 (Whatsapp) 8




100.

101.

102.

103.

104.

105.

106.

[f the semiperimeter of a right angle triangle 1s 126
cm and length of smallest median 1s 56 cm. Find the
area of triangle.

gfs Tuehio FHIqst &1 TguRET 126 9 q1 Had
BRI wiftArw F1 wEE 56 WHT ®, @ e @
&Fd AT HiTd|

In a triangle ABC, /B =90°, D 1s the midpoint of
AC. BD = m - Sum of sides of AB & BC 15 30
cm. Find the area of triangle ABC.

3951 ABC H, /B=90°, D, 5 AC &1 gea-fag
2, BD=+/117 @1 ABdBC &1 arT 30 941 2,

st ABC &1 &3%a A1d hifsg)

In a tnangle PQR, night angled at Q. PQ = 5 cm,
QR = 12 ¢cm. Find the length of QM, 1f M 1s the
centroid.

st PQR & W Q ®Hahor 2, PQ =5 WHi,QR = 12

gt 81 QM #1 @ Fd Sifee, 9 M $5F 2|
In a tnangle ABC, rnight angle at B, AC = 5 cm,

3+/5
median AL = TJ_ . Find the length of median CM.

FuEm fI9s ABC § &0 B HH&0T 21 AC =5
35

-\qtﬁ, -‘I:lTﬁ'Ila'ﬂ AL: T

TS T hiTag|

In an 1sosceles triangle ABC, right angle at B. 1 1s
incentre of triangle then, find the ratio area of

AAIB , ABIC and AAIC .
qu v gHigaRE Y ABCH I B HHSIU 2|

[ 519 &1 a0 = €, d AAIB | ABIC & AAIC &
ST 1 SAI FG i

In an1sosceles right angle triangle ABC right angled
at C, I is the incentre then, find the ratio of area of

AAIB to AABC .
o v HfgaE 99 ABC H, %191 C GHT 2,
aen [ 59 &1 a1 2, @ 399 AAIB 9 s

AABC & &%all &1 391G &1 &m?

ABC 1s a nght angle triangle, (right angled at B)
incircle touches the sides AB BC& ACatF E& D
respectively. If BD 1s perpendicular to AC then, find
the ratio of AF to FB.

ool 99 ABC %10 B W §HKIU &, 991 Th
3=<1:9d9 g1 AB, BCTAC &l %H9I: FEd D™
o991 T €, A BD, AC W o9 &, df AF 9FB &1

9 A Hifeg

In an 1sosceles right angle tnangle ABC (right angled at
B), perpendiculars are drawn from a point D inside the

z, d wifeasr CM #

107.

108.

109.

110.

111.

triangle on side AB and AC meet at P & Q respectively.

[fAP=aqunit, AQ=hunitand £ PAD = 15° find the
value of sin75°.

o v Fufgearg 19s ABC | %01 BW 96T €,
s & o= fag5 D 99 AB 9 AC W &
o/ T E, S HEY: Pa QW fye ¥, At AP=
aTHEE, AQ=bTHE 3L PAD = 15° @ sin75° &I
HH A Hifsu)

(1) J3b (11) Ja
{iii}% [iv)—%

In a tnangle ABC, /B=90°,AB=8cm, BC=6
cm. BD 1s perpendicular to AC, then find the length
of CD, AD and BD.

91 ABCH /B =90°. AB = 8 §HI, BC = 6 &I
JMBD.AC W o g a1 CD. AD 9 BD &1 &g
A9 FHife)

AABC 1s arnightangle triangle (right angled at B), BD
1 perpendicular to AC. It AC =16 cm, BC =9 cm,
find the length of CD.

TOFHT AABC, F0 B R TH&W 2, 9 BD oM
AC W &= 21 IfZ AC = 16 991, BC = 9 g1 2 il
CD &1 @wars F1d Hifeg]|

In a tnnangle ABC, right angle at B, AX = AD,
CY =CD Find ZXDY =?

HHFTTAABC . &0 BT §9%01 2AX = AD. CY
=CDd /XDY =7

B C

[f perimeter of an 1soceles right angled A 1s P. then
find the area of this triangle.

af gufgarg gaso e %1 ofw P2, @ 39
FYs +1 &% F Tm?

Ina AABC ., ZB =90°, BN 1s perpendicular to AC.

AB=6, AC=10. Find the rati AN
=6, =10. mtr::ralnNC_

AABC ®, /B =90°. BN ST AC W & 21 AB =

AN
6. AC=10%T,d@ —=7
: € NC
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) 4
(1) 16 (11) 3
i 16 3
(111) 9 (1v) 1

112. Ina AABC. median BE and CF intersects at right

angle. Length of BE= 6 cm and CF =9 cm. Find the
length of AB.

Ina AABC right angle at C. P is the length of |

from C to AB. Ifa, b, ¢, are the lengths of BC, CA,
AB. Which relation 1s correct.

113.

(1v) —-+

114. Ina AABC, Disapointon BC. AB 1s the hypotenus
then which relation 1s correct.
(1) AB*+ CD*=BC?+ AD?
(1) CD?*+ BD?=2AD?
() AB*+ AC?=2AD’
(1v) AB?+ AD?= BD’

115. If side of an equilateral triangle 1s increased by 2

units, then the area is increased by 3+./3 square
units. Find the side of this equilateral triangle.

116. ABC 1s anequlateral triangle. P and Q are two points

on AB and AC such that PQ || BC . PQ =5 cm. Find
the area of AAPQ) .

117. Ina AABC. line DE || BC . BE divides the area of

A inratio 1 - 2. Find AR
DB

D and E. are the mid-points of AB and AC of
AABC , BC i1s produced to any point P. DE, DP
and EP are joined, then APED 1s equal to?

AABC ¥, D 3RE 95T AB 3R AC® 7%A fag 2
BC &1 fa5 P % aem@n 51 @ DE, DP SR EP &1
faen fgmn ST € 9@ APED &1 &9%d = ?

Inthe night angle ABC. BD divides the triangle ABC
into two triangles of equal perimeters. Find the
length of BD, given that AC = 100, BC = 80.

£LB=90°

TF gusv 99 ABC ® BD f39« ABC &1 2
TAH 9fE o et | atedt @1 BD $1 o

1 &1 AT 2 AC = 100, BC = 80. £ZB=90°

118.

119.

120. Consider AABD suchthat ZADB =20°andCisa

pointon BD such that AB=AC and CD=CA. Then
the measure of ZABC 1s

A ABD T8 ¥&R 2, T £ ADB = 20° 21 BD W
1 fag C 39 w1 2, fF AB=ACTNCD=CA
@ &I £ ABC %1 91 A1 HIfSg)

In AABC, ZA1s a right angle and AD 1s
perpendicular to BC. It AD =4 ¢cm BC = 12, then
the value of (cot B + cot C) 1s

A ABC ¥, &I / AGH& &, 94T AD, 951 BC
W o 214§ AD =4 THY, BC = 12 9t i (cot B
+ cot C) =T HH Bl

In a nght angled triangle ABC,AB=2.5cm, cos B=
0.5, ZACB =90°. Find the length of side AC, in cm.
gH® 0 95 ABC 9, AB =2.5 91 , cos B= 0.5,
Z ACB=90°dl 9l AC &1 &% s 9+t | I
AABC is right angled at A. AB = 3 units. AC =4

units and AD 1s perpendicular to BC. What 1s the
area of the AADB

A ABC. %19 A T 9T 8, AB=3 75, AC=4
T TMAD, BC R &4 €, @1 A ADB %1 g% &1

A right triangle has hypotenuse p cm and one side of
length g cm. If p— g = | c¢m, find the length of the

third side of the triangle.

T HHH S et & PO a1 U Sl g S5

g, 9% p—g=11 fay= #t GGG g F@ Fifew
125.In APQR.S and T are points on sides PR and PQ
respectively such that Z/PQR = ZPST . If PT =5 cm,

PS =3 cmand TQ = 3 ecm, then find the length of SR.

APQR H 9S1 PR d PQ W %H¥I: a5 S& T30 WK
g & ZPQR = PSTAR PT =54, pS=3%H
g TQ =3 @ SR HT vl 7 ity

126. The sides of a tnangle are in geometric progression
with common ratio » < 1. If the tnangle 1s a night-
angled triangle, then r*is given by?

fordt f9 1 YT Ui it | &, 9o SThT Wy
r< 181 3z e gusm s & @ 2 99 e

127. ABC 1satnangle mn which AB=AC. Let BC be produced
to D. From a point E on the line AC. Let EF be a straight
line such that EF 1s parallel to AB. Consider the

quadrilateral ECDF thus formed. If ~ABC = 65" and
ZEFD =50° then find /FDC .
ABC t% fays #, fs&d AB=AC 51 BC %1 D%
2@ Sl ¢, T EF, AB® ¥9<R €, 39 Y&K TH
g9« ECDF &1 €1 3% L ABC =65° @91 ZEFD =
50°dt ,FDC 1 HH F1d Hiferd

128. Inatnangle ABC, angle bisector of /BAC cut the side

BC at D and meet the circumcircle of AABC at E, then
find ABAC + DE AE

121.

122,

123.

124,
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129.

130.

st ABC 5, /BAC 1 ®IV-31g, g1 BC &l
D W wfqesfEd wtar &, a9 AABC & qfgw i
fag E W @rea 2, @ ABAC+DEAE 7@ &i|
(a) 2AE (b) AE’

(c) 2AE’ (d) 3AE?

In AABC . G 1s the centroid. AB = 15 cm, BC= 18

cm. and AC =25 em. Find GD. Where D is the mid
point of BC :

AABCH , G #5%F 21 AB = 15 ¥, BC= 18 &,
AATAC = 25 4, GD &1 °9F F1 &M 5@l D, 9=
BC #1 #g-fag 21

In the figure given below, ABC 1s right
angled at B and AABD 1s right angled at A.
[f BD 1s perpendicular to AC and BC =

243 ¢cm with ZCAB = 30°, then the length of
AD 1s -

= &4 7 feg SABC, I B W WHEI €, GAMAABD
9 AT FHHIT ©, % BD, AC W &7 &, 991 BC =

23 Tft, LCAB = 30° a1 AD &1 ot &1 2t

% 3k % % %k 5k %

131.

132.

D

Z\Ecm

A B

In a triangle ABC, angle bisector of /BAC cut
the side BC at D and meet the circumcircle of]
AABCatE IfAC=4cm, AD=5cm, DE= 3
cm. Find the length of AB.

A ABC 9, /BAC &1 ®U-3@h 1 BC &l
D@ AABC & 9Rga &1 E W ufa=sfea & 2
afs AC =4 981, AD =5 81, DE = 39 @ AB
1 ovars d Hifer)

In a rnight-angled triangle XYZ, right-angled at Y, if
XY = 2./6 and XZ-YZ =2, then find sec X + tan X.
g FYSXYZ, HI0Y | qEEi0 7, qfE XTY =
2.J6 TMXZ-YZ =2, disec X + tan X &1 HH BT
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